

قسم د فتر A

عازية سيات يا

$$d = \frac{41-40}{5-1} = \frac{1}{4}$$

$$a_n = a_1 + (n-1) \frac{r_1}{r} = 101$$

$$40 + (n-1) \frac{r_1}{r} = 101$$

$$(n-1) \frac{r_1}{r} = 61 \rightarrow$$

$$n-1 = \frac{61 \times r}{r_1}$$

$$n-1 = 61$$

$$n = 62$$

$$\forall k \in \mathbb{N} \geq 100 - \forall k \geq 99 \rightarrow k \geq 100$$

$$\forall k \in \mathbb{N} \leq 999 - \forall k \leq 999 \quad k \leq 100$$

$$100 - 100 + 1 = 101$$

$$a_n = a + b \rightarrow a_{n+1} + a_{n+2} + a_{n+3} = (a(n+1) + b) + (a(n+2) + b) + (a(n+3) + b) = 3an + 3b + 3a$$

$$3an + 3b + 3a = -4n + 12 \rightarrow 3a = -4 - a - 3 \quad 3b + 3a = 12 - 3b = 12 - b = 1$$

$$a_n = -2n + 1$$

$$a_{14} = -2(14) + 1 = -27$$

$$a_1 = -2(1) + 1 = -1$$

$$a_{14} + a_1 = -27 - 1 = -28$$

$$a_1 - a_2 = a_{14} - a_1$$

$$r^{x+1} - (r^x - 1) = (r^{x+1} - r^x) - r^{x+1} - r^x = r^{x+1} - r^x - r^{x+1} - r^x = -2r^x = 0$$

$$x = \frac{r \pm \sqrt{r^2 - 4 \cdot 1 \cdot 1}}{2} = \frac{r \pm 0}{2} \rightarrow r \rightarrow r^x = r \rightarrow x = 1$$

$$a_r = r^r - 1 = r$$

$$a_1 = r^{r+1} = 1$$

$$a_{14} = r^{14} - r = 14$$

$$r + 1 + 14 = 16$$

$$a_{14} - a_{10} = 4d = 4 \rightarrow d = 1$$

$$\begin{cases} a_{14} - a_{10} = 4 \\ a_{10} + a_{14} = 16 \\ a_{14} - r_0 \\ a_{14} = 10 \end{cases}$$

$$a_{14} = a_1 + r_1(14) = 10$$

$$a_1 = \frac{-r_1}{r} = -1, 10$$

$$a_{14} = a_1 + r_1 d = -1, 10 + 10 \left(\frac{10}{r} \right) = 10, 10$$

$$s_1 = a_1(r_1 + d) = 10, 10 + 10d$$

$$s_r = \left(\frac{10}{r} (r a_1 + d) \right) - \frac{a_1}{r} (r a_1 + d) = 10, 10 + 10d$$

$$r(w a_1 + 10d) = 10 a_1 + 10d \rightarrow 10 a_1 - 10 a_1 + 10d - 10d = 0 \quad r a_1 = d$$

$$a_r = a_1 + d = a_1 + r a_1 = r a_1$$

$$\frac{a_r}{a_1} = \frac{r a_1}{a_1} = r$$

$$t_{a'} - t_{a''} = (t_q - t_a)(t_q + t_a) \quad t_q + t_a = t_v + t_v$$

$$d = a$$

(v)

$$t_{a'} - t_{a''} = \gamma_0 (\gamma + t_v) = \gamma_0 t_v$$

$$\frac{\gamma + \sqrt{\gamma} - \gamma(1 - \gamma\sqrt{\gamma})}{1\gamma + 1} = d = \frac{\cancel{\gamma}\sqrt{\gamma} - \cancel{\gamma} + 1\gamma\sqrt{\gamma}}{1\gamma} = \frac{\cancel{\gamma}\sqrt{\gamma}}{\cancel{\gamma}} = \sqrt{\gamma} = d$$

(A)

$$\frac{\gamma\gamma - \gamma}{\gamma_{n-1}\gamma_{n+1}} = \frac{\gamma_0}{\gamma_{n-1}} = \frac{10}{\gamma_{n-1}}$$

$$a_{n+1} = a_1 + n(d) = \gamma + n \times \frac{10}{\gamma_{n-1}} = 11$$

(q)

$$11 = \gamma + \frac{10n}{\gamma_{n-1}} \rightarrow q = \frac{10}{\gamma_{n+1}} \rightarrow q(\gamma_{n-1}) = 10n$$

$$11n - q = 10n \rightarrow \gamma_n = q \rightarrow n = \gamma$$

$$a_n + a_{n+1} = a_{1v} + a_p$$

$$n + n + 1 = 11, \gamma$$

$$\gamma_n + 1 = \gamma_0$$

$$\gamma_n = 10$$

$$n = 1$$

$$a_1 = \gamma a_f$$

$$a_1 + v d = \gamma(a_1 + \gamma d)$$

$$v d - \gamma d = \gamma a_1 - a_1$$

$$-\gamma d = \gamma a_1 \rightarrow a_1 = -d$$

(10)

$$a_n = a_1 + (n-1)d \rightarrow -d + (n-1)d = 0 \rightarrow (n-1)d = d$$

$$(n-1) = \frac{d}{d} = 1$$

$$\frac{(n-1)-1}{n} = \gamma$$